H & 0l & AHS B Ml A

0248 =0ila eI D=t

SN JIEEAD
M A
&2 HOIE Mel (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
J|=td 1t 10,292,557 16,442,775 26,180,218
= 6,087,345
[ 509,288
= 1,079,711
Al 2,616,213
E=EASEge 1,592,350 1,052,653 539,697
= 500,000
= 201,728
Al 890,622
HIIZ X 1,592,350 1,052,653 539,697
[ 500,000
= 201,728
Al 890,622
SS3EA 2 1,578,821 1,032,848 545,973
[ 500,000
= 200,000
Al 878,821
101 @124H| 48,961 38,102 10,859
MU OIRINZZENSES 48,961 38,102 10,859
O=32AE Al FAl2e| =Y 35,418
-Jl=s 78,8803 x1&H #2502 19,720
-SE S0l 200,000 *23] 400
FE4Y 78,8802 %1252 4,102
S HEE
9,860 *6AI 2+ 1B +67 L 150% 5,946
—2HAH| 2,000 1 »250! 500
—uwSH| 50,000& * 122 600
L P!
121,903 x 1« 123 1,464
-ElX= 32,230,500& /128 2,686
OJIZHMIZZ2 X AU EE D223 3,617
=83 32,230,500 4. 5% 1,451
-AL2E 32,230,500 *3.545% 1,143
“AIRYEE 1,142,570 %12.27% 141
“MHHEE 32,230,5002 %0.982% 317
-UEEE 32,230,500 *1.75% 565
Od=LA(Hstd) M=z SSAHE2
A o=l 9.9
A MSUE BT Ha oL
ol 5,345
p[E 88,0002 48 +72! 4,928
ATREOIZRS3)
4,928,000 +1.004% 50




2A:

Jl=&td it

M A
Cel: HIIE HMel EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
VEEHOI2ARES)
4,928,000& *1.75% 87
Z2HAlH| 5,000 «8&»7& 280
-H=FEY HEUs SSadd d4
ol 4,581
JlEa 88,0002 x8H 6 4,224
AHES 4,224 ,000& *1.004% 43
- DEBEEHOIZREI)
4,224,000 *1.75% 74
ZHAlH| 5,000 8 +6& 240
201 er23 | 180,647 184,938 A4, 201
01 At2t2ltl 85,847 84,360 1,487
Odgt=3=H| 81,360
-SESEY AE2E ARE (2 W] S)
- 21,0003 66 I 2= +62] 8,316
S3oEd BEorH & etk HA
=S 1581%8,500L+66 1 2+ 13 8,415
-SSeEA 4 2 5 7Y 64,629
] 10, 750366 2+ 123 8,514
ZHAMSEA ZHSE
83, 160& *5JH 2= #62] 2,495
EN S AN RSP 7,050 x330H 2 x 122 2,792
et AZEFA (A, 2al 8)
16,800 *66JH A *43] 4,436
SIE(ELE)
39,0002 x66H A 123 30,888
- e 7,040 06 2 +2 S *42] 3,718
==lbs 1, 7703 *660H 2= %43 x 123 5,608
SENsFFY
1,560 x667H A #5601« 123 6,178
Od=AE(Hjerd) M= SSHEA
34 E5 7Y 4,487
“A=EAS 10,750 *30 0 A x2E 645
-LEHAZE FU(HA, 2 S)
16,8002 *30JH #1323 504
“SEX(BEE) 39,0002 3001 A2 2,340
&R 7,040 %3001 2x23] 423
-=dl= 1,770 #3001 2+23] 107
SN & 2L
1,560 +30H A +501+2E 468
02 S3=4gl 94,800 100,578 Nb,778
O332= € HAl 94,800
-SSeEY ol AIE=
95,0003 *66IH =% 123 75,240
SSAYE HIIMNER
1,300,000& «12& 16,600




2A:

Hu: mApe
o2l: HOIE XMl (SH &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
NN
5,0002 6600 A+ 128 3,960
202 (4t 1,620 3,240 A1,620
01 =LHO4 b 1,620 3,240 A1,620
O=SsHE4 22| =8 22| K|
200, 0002133 %331 +50% 900
OZTZsIEA YYTA U DM FHO
] 20,0003 *3H x23| 122 x50% 720
307 212+01 A 542,718 452,418 90,300
05 QIZtRIEIS 542,718 452,418 90,300
O=E3&E4a HA=9H|(66014)
542,717, 5402 * 14 542,718
401 Al&HIZ 20| 804,875 278,150 526,725
s 500,000
& 200,000
Al 104,875
01 AlEHI 804,875 278,150 526,725
O=SsHEA! Hiz@e| elof&
30,000,000 * 1A x50% 15,000
OL=35sEA SHME(E=)
35,000,000 * 14 2 %50% 17,500
O2=stE4a AR MA
130, 000 *607H 2 *50% 3,900
OctalstEa =4 68,475
-EHEI WZEI X
270,000 »45CH*50% 6,075
—HE0E CCTV &X
2,000,000 *337H 2 +50% 33,000
-S4IAH| A X
2,450, 0002 244 2 x50% 29,400
OALIE SH&EA ZE(ZFNEZAl AIY)
700,000,000& * 14! 700,000
s 500,000
& 200,000
NS SEA 2e|23H| XA 2,880 5,760 22,880
& 1,728
Al 1,152
201 Lt | 2,880 5,760 A2,880
& 1,728
Al 1,152
01 At 22|l 2,880 5,760 A2,880
Oget=ZH| 2,880
LS EA 2H9E25 & 7L
80,0003 *6 70 A~ * 1200 & *50% 2,880
= 1,728
Al 1,152




SN JEHAY
Hu: HAEE

Cel: HIIE HMel EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Fhaxcl 2,310 2,310

201 er23 | 750 750
01 A2l 750 750
OLersEH| 750
HAXY BuaHE
15,0002 50K A 750
301 22N = 1,560 1,560
14 JIEt2 8= 1,560 1,560
OZNXIY 24 Sall X8
130,000& *37H 2-%42] 1,560
JHeIGt= el Ald 2tel 8,339 1,735 A3,3%
201 Ler23| 8,339 1,735 A3,3%
01 AlR 21| 5,105 2,49 2,610
GEICIER=T 5,106
~Q4HRINA S BFR: HA AIRE
1,500 «100H 150
—2XCAE YR 2N TR
21,90021%5021 1,09
OlRI0IBERY E2S AANSLE
261,0003 %1094 2 2,610
“NEE HACHY BN M
250 #5,000& 1,250
2 S52g4l 3,234 9,240 26,006
O=32= & HAl 3,234
“HSE UHREA HUHE 258 PN
fUR= 40031 +5,250 2,100
-H3tE WREA 01018 2IDSK S|
SRS 2,700 35021 945
-t 010/ UHESK S| R
HR= 2,700 7021 189
gt XU 2el 2,559,382 529,650 2,029,732
= 1,946,420
= 280,800
Al 332,162
OiHXIS SHEA S5 2,559,382 529,650 2,029,732
= 1,946,420
< 280,800
Al 332,162
IRl 2o L otdze| B2 5,250 2,600 2,650
201 er23| 3,050 1,100 1,950
01 At2teltl 3,050 1,100 1,950
OLer+EH| 3,050
~ATHAOILT SSETAANY B2 B4
NS 50,0003 x50 *50% 1,250




e RIEL
Hm: S XANK 22l
&t ouXe SHEE S5 (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
D ENEC R EN
NS 50,0003 x50 +50f% 1,250
-0l 2ot 82 401 () M
110, 000R #5IH 2 #23] *50% 550
202 04| 2,200 1,500 700
01 =LHOLI 2,200 1,500 700
OUHTIZS, JhA, A48 2E U 510|A
200, 0003 x2EH 22| x50% 400
OMMANIHA =8 S2AY 223 &
A 200, 0002 *32 *50f% 300
OdII At B0t EEX u= & %Eléf
200, 0002 x22 +33] *50% 600
OoxdJ|td e 8gAt B
200,0003 x 1 *12/x50% 100
OEIZ 2RI 2280 U B2
200, 0003 x2& 22| +50% 400
OJA, MRS ASE U DR o
200, 0003 x2&H 22| *50% 400
SADA B2 210,000 310,000 100,000
401 Al HIZL S 0HYI 10,000 10,000 0
01 Al&HI 10,000 10,000 0
OEADIA B35 2Xx= N3AMY AE=F
] 1,250,000 * 162 *50% 10,000
402 2IZtA=01d 200,000 300,000 100,000
01 QI X2 AL E R (K THE) 200,000 300,000 100,000
OEAIA S5 EXs A3AMY
200,000,000 *14] 200,000
NS JIAAIEHE KA 10,500 26,250 15,750
= 2,250
= 1,800
Al 6,450
403 AXIEHMSA=Z0l1d 10,500 26,250 A15,750
= 2,250
= 1,800
Al 6.450
02 SISOt =2 A P E A I 10,500 26,250 15,750
ONEIE A EXI(EHOIHZ) 2SS ALY
60,0002 = 100A| CH 6,000
=S 1,800
Al 4,200
OLPGEI| AFEIH Al AL
225,000 =20 CTH 4,500
= 2,250
Al 2,250
ATHANU K 25 =S X2 A 130,000 54,000 76,000
= 39,000




A JIZERD
Ha: st AKX 22
ol OlXIel o R B3

o og

SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 91,000
402 2IZtA=01d 130,000 54,000 76,000
=S 39,000
Al 91,000
02 RIINEASEZ(0IETHR) 130,000 54,000 76,000
OMTHHNU X 2 =R AS
130,000,000 * 14! 130,000
< 39,000
Al 91,000
LA FHIA XA 18,600 18,800 A200
= 18,600
401 A2 HIRL 201 18,600 18,800 A200
= 18,600
01 AlZ2H| 18,600 18,800 A200
Ogda FHXA XA (XI])
18,600,000 * 14! 18,600
= 18,600
ATHANUH K SSEXAA 2,180,032 0 2,180,032
= 1,925,570
= 240,000
Al 14,462
402 QIF X201 & 2,180,032 0 2,180,032
= 1,925,570
< 240,000
Al 14,462
02 QI X2 AL EE (01X THE) 2,180,032 0 2,180,032
OATHMOIIX LS S=ETIAAY
2,180,032,000& x 14 2,180,032
= 1,925,570
[ 240,000
Al 14,462
SHEFAAE Ol8H=2 &I olg S&AIE XI& 5,000 0 5,000
A
401 AIEHIX SO 5,000 5,000
01 Al&H| 5,000 5,000
OHEFHSAS O1sAH=2 MII=H ol
QHMAIE XIE 10,000, 0002 * 141 %50f% 5,000
HEZol 2l 5,863,039 14,461,240 8,608,201
= 4,107,325
[ 9,288
= 590,265
Al 1,146, 161
45 g e 4,269,992 10,169,565 A\b,899,573
= 3,189,750
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2A: Jl=eZ
mu: MEzs) 22l
ool dg a3 i (St &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
- SI|RH 2,700 *1000H 270
-SBXNEHETE NSIHA
150,000 *1CH* 13 150
—SENEEHEXSE 282
600,000 *1CH 600
_SUNBTEIY PHASK MHlA 23
1852 *600CH* 103 1,110
—2HHMIBHESAIAE coty HI| & SERS
100,000 *8CH* 123 9,600
ONAFHIS X 1,400
~ASEFI| L ZEH 22
400,000 x24! 800
-NSIHHHEIA HEEH| |22 600
-HHEFED| =2l 300,000& * 14! 300
- AASHERS SFI| 2|
30000024 14! 300
OISEL] 1,19
“HENCHEE XY R
255, 7@ *40kh* 100 1,023
-AHSIEILA HEEUI(EED]) HEH
1,440 =102/ E 123 173
OXrere| 1,250
-SAXNEHEE IS FA2eld]
25,000,000 *5% 1,250
202 (4t 1,200 1,800 A600
01 =LHO4 b 1,200 1,800 AB00
OEXNE FF& ¢dl
200, 0003 *3H *43| 50% 1,200
301 LBENZ 350 350
14 JIEt2 43 350 350
Ost3AY #2101 S BA2 350
-A H] 20,000 *5H 100
-0 Hl 20,0003 *5H 100
—=sug 30,000 *5H 150
308 AXIEHMSOIN 42,180 23,000 19,180
13 SI |2 SHICHEH B A E L EFALH] 42,180 0 42,180
O2dNe HSAAE 29 42,180
-2 ISt HEAIAE SLIHYHEH 292
cldl 24,940,000 3 *14] 24,940
-2 HISH CHSAIAE S22l
17,240,000 3 14| 17,240
405 KHHE SH| 23,000 23,000
01 ML SEFHSHI 23,000 23,000
O=Rol &5 s ZED|
23,000,000 * 14! 23,000
A2 AMEE UXAIE EX XJAS 175,950 189,000 213,050




FA IS
3 dEzol 2l
Rl g B R (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 97,750
Al 78,200
402 QIF X201 & 175,950 189,000 213,050
= 97,750
Al 78,200
02 QI A2 AL E R (0IHTHE) 175,950 189,000 A13,050
OATZ AFEE SXAIE X XA
35,190, 0002 =5CH 175,950
= 97,750
Al 78,200
OINEX SHEE 6l ZAl ASAHS 18,576 17,864 712
= 9,288
Al 9,288
101 @124H| 18,000 16,664 1,336
= 9,000
Al 9,000
M IRINZZENSES 18,000 16,664 1,336
OIzZh ZAIE el4d| 18,000
-Jl=s 78,8803 x2& » 75 11,832
[ 5,916
Al 5,916
-E&04H| 20,0003 2& »75& 3,000
= 1,500
Al 1,500
a=iatsl 130,000 x2& x3& 780
= 390
Al 390
-AEIEEE 248,000 x2H+38 1,488
[ 744
Al 744
- = 250,000 2 500
= 250
Al 250
-1 =H 200,000 x2&H 400
[ 200
Al 200
201 223 576 1,200 A624
= 288
Al 288
01 At22t2lt] 576 1,200 A624
Odgt=3ZH| 576
-ANRESHI 144,000 <2 288
= 144




FA IS
3 dEzol 2l
Rl g B R (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 144
-224 =5 7l 144,000 x2& 288
[ 144
Al 144
ANXHH CH12Esde 4X) - 29 80,320 259,640 A179,320
= 24,000
Al 56,320
201 Ler=23 | 80,320 49,640 30,680
= 24,000
Al 56,320
01 AtR2te|HI 61,400 36,000 25,400
ogpragH| 61,400
“WIRAEYA 2
24,000,000 *20H 2 48,000
< 24,000
Al 24,000
IIQBETA HEAA 242
5,000, 00024+20H A 10,000
SOIQUEHA DEHUA 242
1,700,000 x20H A 3,400
2 IZ2YH| 18,920 13,640 5,280
OZZ23 2 HAl 14,720
-WleEEEY )93
300,000 #2JH 2+ 123 7,200
ISH=HY SR
100,000 274 A *13] 200
OIMIBIT GIZEH SXAEIA 93
503 *2,000& »302] 3,000
-OIMSR & AIAR M) 2 SRS
45,0002 +8CH* 122 4,320
OAIE2 &= X 4,200
-0IAIEX S S =A2e
60,000,000 *7% 4,200
NHEE N=A B2 E5AY 30,000 160,000 130,000
= 18,000
Al 12,000
402 2I2FX+=01 & 30,000 160,000 130,000
= 18,000
Al 12,000
02 QI XHE AL E R (01X THE) 30,000 160,000 130,000
OJIEE N=A 22 ESAHY 30,000
-NASE 600, 0002 *50CH 30,000
= 18,000
Al 12,000
Zigd 22 2SAY 8,000 4,000 4,000




FA IS
3 dEzol 2l
Rl g B R (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,400
Al 5,600
402 QIF X201 & 8,000 4,000 4,000
= 2,400
Al 5,600
02 QIR A B (01T ) 8,000 4,000 4,000
OHBFBUY B2
800,000&*10CH 8,000
=S 2,400
Al 5,600
IS 25 & SHeIZ 25AHY 1,200,000 4,120,000 /2,920,000
= 800,000
= 300,000
Al 100,000
402 2I2F X201 & 1,200,000 4,120,000 22,920,000
= 800,000
= 300,000
Al 100,000
02 QI XHZ AL E R (01X THE) 1,200,000 4,120,000 22,920,000
OXI| XSt B2 (58) 1,200,000
012 MO St 1,200,000,000& *14] 1,200,000
= 800,000
= 300,000
Al 100,000
HIISEXH (A ) BS A 917,000 1,935,000 /1,018,000
= 770,000
= 105,000
Al 42,000
402 2IZtA=01d 917,000 1,935,000 21,018,000
= 770,000
= 105,000
Al 42,000
02 QI X2 AL EE(OIETHE) 917,000 1,935,000 /1,018,000
OIS HAE)2SAHY 917,000
-&I|3t =Xt 917,000,000 x 14 917,000
= 770,000
= 105,000
Al 42,000
SDI0IEX Fbl 16,000 56,000 40,000
= 8,000
Al 8,000
402 2I2F X201 & 16,000 56,000 240,000
= 8,000




FA IS
3 dEzol 2l
Rl g B R (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 8,000
02 QI XHE AL E R (01X THE) 16,000 56,000 240,000
O&II0IEX E=AtS 16,000
-gI2k MJ|0|EXt 1,600,000 * 10CH 16,000
= 8,000
Al 8,000
=A% 28 & =ASHA EXAY 565,000 2,625,000 22,060,000
= 450,000
< 100,000
Al 15,000
402 BIZtAH=01H 565,000 2,625,000 A2,060,000
= 450,000
=S 100,000
Al 15,000
02 RIENEASEZ(0IETHR) 565,000 2,625,000 22,060,000
Ox=2HS XX ESAHY 565,000
—=AASHEXI 565,000,000 * 14 565,000
= 450,000
s 100,000
Al 15,000
A E5AH 980,000 605,000 375,000
= 980,000
402 2I2F X201 & 980,000 605,000 375,000
= 980,000
02 QI X2 AL EE(0IETHE) 980,000 605,000 375,000
O&IIHA b 70,000,000 * 14CH 980,000
= 980,000
IAEHEI HISItA M2EX 23 XA 135,600 0 135,600
= 66,000
Al 69,600
402 QI2F X201 & 135,600 0 135,600
= 66,000
Al 69,600
02 QI X2 AL E R (01X THE) 135,600 0 135,600
OJNAZHI HIEItA MZEX 23 K&
At 3,390, 0002 *40CH 135,600
= 66,000
Al 69,600
NAH t1SS5583Y 29 - 22 8,700 0 8,700
201 er23 | 8,700 8,700
01 At2teltl 5,000 5,000
Odit=3=H| 5,000




e RIEL
3 dEzol 2l
Ctel: M2 2t e (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-WIs=5534 29
5,000,000 * 104 2~ 5,000
02 S3=gHl 3,700 0 3,700
Os&k= € MA 3,700
-Is=5582 &) € SHks
300,000 x 104 2% 123 3,600
-WIs=5532 M2
100,0003 *1JH A+ 18] 100
JI2HAUS 1,583,047 4,291,675 N\2,708,628
= 917,575
== 58,865
Al 606,607
NEA=MEY =Y 146,903 86,175 60,728
101 @124H| 59,293 0 59,293
MU OIRINZZENSES 59,293 0 59,293
O&JIAt S8Y S8 &S SAIA 59,293
22 78,8802 %23 +2224 102 34,708
EEay 78,8302 22 x422) 6,626
L P!
120,520 x2&« 103 2,411
-E3H| 20,0003 x2&H+222 x 102 8,800
—2HAH| 2,000 x2EH*222x 102 880
-AEIEEE 5,068,000 * 14 5,068
-EE=0HI 200,000 2 400
-l[=Hl 200,000 2 400
201 fer23y| 52,210 53,075 865
01 AtR2t2|HI 49,050 52,525 A3,475
Odgt==H| 42,150
-220tA HHEY AEAHEN HE 2
12,000,000 *14{ 12,000
-24JIA HHEY BAN 88 =8
13,000,000& » 14 13,000
OIS AL HE B 3,000
s2= 200 5, 0000H *50% 500
S4=0(A) 50,0003 1007 2*50% 2,500
-EIASEHIEQEN B 2,525
2= 2003 %10,0000H*50% 1,000
E0H(A) - #FZXHH, OHIIEEX]
50,0003 *507H 2+ 13| %50% 1,250
S =0H(TH) 110, 000 #5IH A=+ 121 +50% 275
-AJ|HXE XA Sl
15,0002 %1, 550CH*50% 11,625
Ogx=z 5,500
-OIMSA H2E st &2 &+i gx
550,000 x2CH* 10 #50% 5,500




FA IS
3 ol 2l
el JISEHUS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=2g+¢ 1,400
2050 EFAZR=MARSIAS] A
70,0002 * 10 *42| x50k 1,400
02 S3=gHl 3,160 550 2,610
OSAIA HEH AIF H3lY|
550,000 12 550
O=32=  HMAl 1,150
—=ANSIHZE XE) 282
1,000,000 *1CH 1,000
—ANSIHZS ) AHSIHA
150,000 1CH 150
OXtgrdet] 1,460
—=ANSIHZE X)) =258
80,0002 128 960
—ANSIHZS UE) sl
500,000 *1CH 500
202 04| 2,400 2,100 300
01 =LHO LI 2,400 2,100 300
OREA =ML 2Het 20|
200, 0002 x4 +63] %50% 2,400
207 ARl 31,000 31,000
NEEEET 31,000 31,000
OSAIIA HES HEHEM T8 B
13,000,000 * 14 13,000
OSaJIA HEZ M X8 8
18,000,000 * 14! 18,000
303 Za= 2,000 2,000
01 Za= 2,000 2,000
OBASEQIEH YN 24 #E=T
e Z&s 2,000
%R 600,0002 *10H A 600
-2 300,000 *20H A 600
-&ed 200,000 #4042 800
02l0l S=xtE2l PGt Mak X2 A 30,000 119,000 289,000
= 15,000
Al 15,000
402 2I2F X201 & 30,000 119,000 89,000
= 15,000
Al 15,000
02 QI XHZ AL E R (01X THE) 30,000 119,000 /89,000
OO0l St LPGRE M XIZAHE
5,000,000 ~6CH 30,000
= 15,000
Al 15,000
HERI BSOS M2 ALY 933,3% 3,944,500 A3,011,106




FA IS
mu: MEas) 22l
Rl JISFHIUS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 700,450
=S 54,865
Al 178,079
402 2I2FXH=201& 933,3%4 3,944,500 A3,011,106
= 700,450
= 54,865
Al 178,079
02 QI XHZ AL E R (01X THE) 933,3%4 3,944,500 A3,011,106
OLFERI ZIIHIXF XIZ A 652,894
5528 ERAt 190,400,000 * 14! 190,400
= 160,000
= 16,000
Al 14,400
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= 69,300
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= 4,000
Al 99,000
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= 4,000
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14 IIEt2 83 198,000 108,000 90,000
OBASSEEN It IMEIE XS
190,000, 000% 14! 190,000
= 95,000
Al 95,000
Odctd BASEHIEQEN =2
8,000,000 * 14 8,000
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46,500,000 *14] 46,500
Agetd 25 195,376 302,152 106,776
= 33,600
= 6,918
Al 154,858
23 2d 195,376 302,152 A106,776
= 33,600
= 6,918
Al 154,858
At B 28 K& 115,180 218,670 /103,520
201 eer23y| 2,520 5,040 A2,520
01 AtR2t2|HI 2,520 5,040 A2,520
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-SFEd Aue 2= NH
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-2 AU SHIt= MH
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SO SEE2SE3) 3,000,000 14| 3,000
401 Al HIZ R 0HHI 10,000 20,000 10,000
01 AlZ8| 10,000 20,000 10,000
OUSBOIHMA A FXl2el
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OOk s2(HISI], X)) EIXIM &
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= 18,345
Al 7,862
04 JIZtN2Z2 XS 2 26,207 31,948 A, 741
Ovot&EotAg I =HEE 12| 23,683
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AL A HIU gz
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A SIEAE SEA 7Y
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A SIEAE BiCEE 7Y
55,0003 102 A* 122 x50% 3,300
O=etl 16,128
-SFYe A UE S20atl
8,0003 x212+83|x 12 16,128
02 S3=gHl 1,080 1,080 0
Os&sR= € MA 1,080
-RAYS sAlE 60,0002 * 122 720
-QIEU AR 30,0002~ 12 360
202 04l 50,400 38,400 12,000
01 2LHoIH 50,400 38,400 12,000
OstZdIHT 201
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